olutons of fhe Homewsore: vl
HWES @) ephmie = (BB me) (e ) = ©
i N e ’ FLCL

=B by (B -8 pcme =™

o GRV- B Py = (B 1) P = ©

LN —

B By
(jr\{_Pr‘f\?) PI‘PV —-mcC ((3 = )FKi

=0 —% PK=‘(‘< | WK

(b) _
(jW*Tr‘Xv> Pr\vP\) 0 |
SJ/:&M&MC

12 r\tv

A Wﬂ‘\f\’) +2 Tyri') -
1

T e AP -
s |

p_ KV AF) by =° .
<ﬁ “'TL)/;Mu éj];w*""“’ chigy T

_st) Pﬁv'—’o T =2

i o4l Yt
8% ogeep(te) =4 cluose 1=, ¥ el
€3 ']:a:ff; é—ﬁ‘;::ﬁ "’( x (‘6°)1=‘ v, @‘)""4'/)2”‘ 0 X

p=8 V=i )\‘”‘i’f-o Rl » v,
0 g\ H . Hue a
(1¢ $ouYs are one Gr # Satisfy Ha 2L5ebt




o | w2
@) &) p=ov=i > YV =24%0

R S LER A &
(50" = ~ 5ot
\\1 - .
Yo - YorY ;
T Tyt )= ~Tr [7o0¢) (TrIAB)=TrT8A)=)

=~ Tr[xiﬁﬂ = =Trl¥t)
=4
—b 2.Tr [¥)=0 —[Tr{¥i)=0

Sasne Galals ﬁer‘(o) Trl’o“‘_):O .
(B B siwa (=1, (of-1=0 () (=0

& ¥°= 1

Fer Y'Y JMu(JQ—.—.-l—o@‘)ﬂ:o 346@:‘4 CJWTO

® X 0(,19.@( Lt 14 2ign-
Yi=i
1 . —
(&) R¥oR'= Kgx'q :( ~\_,fll \ Since ‘63;% is mm):;)_“(;m .;)uf;ml
’ A
Nz Pimof ¥ is even:
Jame £or €.

N=2,4,6,.-

N<=2 cone, Raule mamiae 64 & Taa
“Cake Yp’z Laxa, "‘lf-{ﬂ'i'
Hotwm ]’”f""“”

e muet go N=4.



- .. ‘ a ’. . P
~( a? l R - !1
.. Oz ~ 1w e &) Bort |
\ Voo A Gk lel "0
Db o Sied Bat Tou ) 1) || L R
.‘a .5\
A s 7 8 * N2
° 1 : D0
- ' e - ' : e &
Gt " L 4 ¢ “Saead " Lo o * et (o)

el Jhwo Ran %’ %"é‘tﬂt‘P {.,.‘a..f‘)“ :
q-nc)?-o : ,p‘,op,,,-tt'ar

(#8 frap s i =
‘ [ am-t GRTVRE ety v

X8 ““"‘l‘*"‘""’"




W, 4

HWa: (@) YrT=yeyrye
From Ho Whick i hecndton, o 7" &

“Rer miHlom v (ll .

‘ \6'01':\6"
. @,KL)“;\GoKl_D KU‘U:':: ~° 6L / {°

€08 Mmuslbe

(b) (S"P)T ~ yos=<ty°
§t- LT = -4 )
ANt

....7(9“@
o geY®
) STAY=Yosia)™s* i
1)
(trge et St s e
=g %J"“PX"S‘”‘



. HW(5

(z et 2y )
?J

A Y0 A ¢
S = & 4 ¥nst

= A~a ToRST 4 4§Tae -
SRR =Y rz"‘*(xhﬂ.sx)\t

\/_-V‘N/

°F =Y NS FNS ¥°
=¥ 85)*Y°
—.—‘6°(1—%JLS+4<"J>.S )1{
W_“

e-T'iJZS_. S(A)

S[a)"= ¥°STAY Y

) i a lerenh scalst.

Y STAYE(A™)
) B STAI¢ W) = =T (v "‘)) ¥"
K- \.{/f(A"x) 5[/9 \6
e
= F(AN X'

- =

stm)™ (from )
= (st
FO)n) —> T (ah) STA)™ STA) Y (A')
\/'\:___-1—"
= (AR (A)




() F= ﬁ‘mﬁ(w}’,a% )
\
Flxrom-m)t

uP Th_o (W)Y =0

" 9(3.1‘:1:)’ SE
=8 “m+*1\6m(’*%

Hwes



